

5.2 Linear Sys. with Multi Variables

ex. 1

$$x - 2y - z = 1$$

$$y + 2z = 5$$

$$z = 3$$

Sub "z" into eq. above

$$y + 2(3) = 5$$

$$y + 6 = 5$$

$$y = -1$$

sub. z and y into ①

$$x - 2(-1) - (3) = 1$$

$$x + 2 - 3 = 1$$

$$x - 1 = 1$$

$$x = 2$$

x	y	z
2	-1	3

ex

$$\begin{aligned} \textcircled{1} \quad & x - 2y + 3z = 1 \\ \textcircled{2} \quad & x + 2y - z = 13 \\ \textcircled{3} \quad & 3x + 2y - 5z = 3 \end{aligned}$$

$$\textcircled{1} + \textcircled{2} \rightarrow \textcircled{4}$$

$$\begin{array}{r} x - 2y + 3z = 1 \\ x + 2y - z = 13 \\ \hline \end{array}$$

$$\textcircled{4} \quad 2x + 2z = 14$$

$$\textcircled{4} + \textcircled{5}$$

$$\begin{array}{r} 2x + 2z = 14 \\ 4x - 2z = 4 \\ \hline 6x = 18 \end{array}$$

$$x = 3$$

sub into $\textcircled{2}$
sub in
x and z

$$(3, 7, 4)$$

$$\textcircled{1} + \textcircled{3} \rightarrow \textcircled{5}$$

$$\begin{array}{r} x - 2y + 3z = 1 \\ 3x + 2y - 5z = 3 \\ \hline \end{array}$$

$$\textcircled{5} \quad 4x - 2z = 4$$

$$2(\textcircled{5}) + 2z = 14$$

$$6 - 2z = 14$$

$$-2z = 8$$

$$z = 4$$

$$3 + 2y - 4 = 13$$

$$2y - 1 = 13$$

$$2y = 14$$

$$y = 7$$

5.2- Sys. of linear eq. in Several Variables.

- ① $x + y + z = 4$
- ② $x + 3y + 3z = 10$
- ③ $2x + y - z = 3$

elim. "x"

$$\begin{array}{r} \textcircled{1} - \textcircled{2} \rightarrow x + y + z = 4 \\ \phantom{\textcircled{1} - \textcircled{2} \rightarrow} -x - 3y - 3z = -10 \\ \hline \end{array}$$

$$\begin{array}{r} \textcircled{4} \quad -2y - 2z = -6 \\ \textcircled{2} \textcircled{5} \quad 2y + 3z = 10 \\ \hline \end{array}$$

$$4z = 4$$

$$\boxed{z = 1}$$

Back sub. into ④ or ⑤

$$y + 3(1) = 5$$

$$y + 3 = 5$$

$$\boxed{y = 2}$$

sub into
①, ②, or ③

$$x + 2 + 1 = 4$$

$$\boxed{x = 1}$$

$$\boxed{\begin{array}{l} (1, 2, 1) \\ x \quad y \quad z \end{array}}$$

$$\begin{array}{r} \textcircled{2} \textcircled{1} - \textcircled{3} \rightarrow 2x + 2y + 2z = 8 \\ \phantom{\textcircled{2} \textcircled{1} - \textcircled{3} \rightarrow} -2x - y + z = -3 \\ \hline \textcircled{5} \quad y + 3z = 5 \end{array}$$

23

ex. 2

$$(1) \quad x \quad -4z = 1$$

$$(2) \quad 2x - y - 6z = 4$$

$$(3) \quad 2x + 3y - 2z = 8$$

3(2) + (3) → (4)

$$6x - 3y - 18z = 12$$

$$2x + 3y - 2z = 8$$

$$(4) \quad 8x - 20z = 20$$

$$(1) \quad x - 4z = 1$$

$$(4) \quad -5(1) \rightarrow 8x - 20z = 20$$

$$-5x + 20z = -5$$

$$3x = 15$$

$x = 5$

using (1)

$$5 - 4z = 1$$

$$-4z = -4$$

$z = 1$

now, using (2)

$$2(5) - y - 6(1) = 4$$

$$10 - y - 6 = 4$$

$$-y + 4 = 4$$

$$-y = 0$$

$y = 0$

(5, 0, 1)